1) BENAIY— b2V —Fz D (BAGE: A, km)
X Bt AKX FrlE X fEIRL 5 TR iR
BEEHEBESE 300 600 850 1, 050 2, 250 2, 800
TRE 300 700 1, 050 1, 300 2, 800 3, 450
RAYE 350 800 1, 200 1., 500 3, 300 4, 100

iizk 6. 0 20. 3 34. 3 43. 8 102. 5 127. 5

X OEK, BE. ERAEAANIAOLHY FEA, BK. BE. ERAFEHSSEHOOAKTF

FTRIRETY .

2) ENERRIT— VA2 —FIOD

(BT : [, km)

X W pi=2 /N FlE ] % 2EE e
BEHEgESE 200 250 1, 450 1, 550 2, 250 2, 850
LTRE 200 300 1, 800 1, 900 2, 750 3, 550
HEE 200 300 2, 150 2, 250 3, 250 4, 200
ick3 1. 9 4. 7 63. 5 68. 1 100. 2 141. 6
3) BIULPARIY— b/ VA —F P (BGL - M. km)
X fH gl e # &2 A2HER BB - FS
BEHEBES 200 350 500 800 1, 250 1, 600
TRE 200 400 600 1, 000 1, 500 1, 950
RAYEE 200 500 700 1, 150 1, 750 2, 300
KEE 200 600 900 1, 550 2, 400 3, 100
HAE 250 900 1, 400 2, 450 3, 850 5, 100
ick3 1. 1 10. 3 17. 8 32. 2 52. 1 69. 5




